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Which of the following district has highest sex ratio of Rajasthan according to Census, 2011 ?

(A)  Jaipur (B) Alwar (©  Dungarpur
(D) Bikaner (E)  Question not attempted

2011 ! SFTUMT % STTER TSI & 0 # § form et # feimama 999 e1fuss © 2

(B) IR (B) TR © TRR
(D) SR (E)  STIANG W&

Sardar Sarovar Dam is built over which river ?

(A)  Godavari (B) Krishna © Tapi
(D) Narmada (E)  Question not attempted

TER TR aY o T T = T e ?

(&) T B) T ©
D) (E) TR o

Which of the following formula depicts monosomy ?

Frefofad Tt & @ S ThHIagsar quid ¢ ?

A 2n-1 (B) 2n-3 © 2n+1
D) 2n+3 ()  Question not attempted / SN T

Which area of Rajasthan is a part of “Arid North Western Plain” ?

(A)  North Western Bikaner (B) Barmer

(© Ganganagar (D) Hanumangarh

(E)  Question notattempted
TR % 37 &3 H T 1 91 I S ufvedt B’ 1 Tk 9 R 2

(A) S UiYEET SR (B) SEH

© TR D) EIATE

) TR we

The largest river in the peninsular region is :

(A) Krishna (B) Narmada (© Mahanadi
(D) Godavari (E)  Question not attempted

YRIGIHIE Y_91/ &1 i ol Fef e ?:

@)  Fm ®) T © T
((DIERIIEER] () TaRd A

Which of the following place of Rajasthan is NOT among scheduled desert areas of India ?
(A)  Jhunjhunu (B)  Udaipur (©  Jodhpur
(D) Jaisalmer (E)  Question not attempted

T 1 11 | 9§ S W1 TH 9IRd & gfad Teeere &5 § T8 § 2

@  #F1 (B) X © S
(D) AR (B)  FRd wed

v23 2



7. Aman starts a business with Rs. ‘"M” and 2 months later Chirag joins him with Rs. "M /2’. 1 month later Praveen
also joins them with Rs. ‘3M’. The difference between the profit received by Aman and Chirag at the end of one
year is Rs. 9100. What is the difference between the profit received by Praveen and Chirag ?

(A) Rs. 38,600 (B)  Rs. 40,000 (©  Rs. 28,000
(D) Rs. 28,600 (E)  Question not attempted
AT, ‘M W TH FRIGR YRY foman 2R 2 7eA & o1 o 39k @y %, ‘M /2’ | Infae &1 71 | U HéiH & 9715,
0T off %, 3M’ W T A1 IHA B AT | Tk Y SR ST WX 19 SR TR R U oy ® 5. 9100/ - 1 SR o)
Feitor Wel e R 9T ey H 1 S 1@l & |
(A) % 38,600 (B) . 40,000 © = 28,000
(D) % 28,600 (B) ARGy
8. Match List-I with List-II:
List-I List-II
Indian Player Sport Associated With
(@) Manu Bhaker @) Cricket
(b)  Mithali Raj (i) Shooting
(¢ PVSindhu (iii) Boxing
(d MaryKom (iv) Badminton
TeAl-1 01 GeRt-11 9 gafed i
-1 eI
W fgerst TA Y TG
(@) = R @i  Torehe
(b)  Thmd TS (i) Fremersh
(© e fHy (iii)  HeFRSTll
@ Fi=m (iv) oefg=d
Choose the most appropriate answer from the options given below :
=1 T T fosredl H 9§ waifies Suged S 9T
&) (@)- (i), (b) - (ii), () - (iv), (d) - (i) B)  (@)-@) (b)-(iv), (c)- (i), (d) - (iii)
©  @-(), (b)- () (c)- (iv), (d) - (i) D) (a)- (i), (b)- (i), (c) - (i), (d) - (iv)
()  Question not attempted / SN T
9. Choose the most appropriate passive form of the sentence given.
No one can do anything about the case unless someone gives us more information.
(A)  Someone has to give more information for us to do something.
(B)  Todoanything more information is required.
(©  Unless someone gives us more information we cannot do anything.
(D) Nothing can be done about the case, unless we are given more information.
(E)  Question not attempted

10. frfafea o fawiaeis w=si = a4 & 3-

(A)  vita-dr (B) T © S
D) oI (E) o1« IGRCES|

11. frefafed 'R swt g s 12 -

@ 7™ ® FrE © few
O frid (E)  SFITRE FeA
2 va3 3 P.T.0.
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The Chairperson and member of the Rajasthan Public Service Commission are appointed by the:
(A)  Governor

(B)  Chairman of Union Public Service Commission

(©)  Chief Minister

(D)  President

(E)  Question notattempted

TSI @l Hell SR o T8 T el ol i 7 H 9 fohdeh 511 o Sl 8 2

A)  TEUA

(B) ¥ TIsh Hell TN < 3{edel

© gEr

) g

(B) ST

Which of the following is the most essential for germination of seeds ?

(A)  Fertilizer (B) High temperature (©  Water
(D) Light (E)  Question not attempted

T8 G ot 3T & foaw ged 1fees sTrevas 1 € 2

A TR (B) = AI9HN © U
©) TE (E)  STITRa T

Ramgarh Vishdhari Wildlife Sanctuary is situated in which of the following place of Rajasthan ?
(A) Bundi (B) Jaipur ©  Churu
(D)  Bharatpur (E)  Question not attempted

T fauem o= Sfe e1vaReg T & frefafead § § fra wom o freg 82

G Gl B) X ©
D) AR (E)  STIaRa oo

What will come in place of question mark (?) in the series ?

frafafaa & %0 § ggam=s fas ((2) & T&E W) 3 8w ?

44,22, 22,33, 66, ?

A) 120 (B) 165 © 96
(D) 100 ()  Question not attempted / SN T

The sum of all the factors of 120 is :

120 % Gt T[OrRT <1 AT BT

(A) 360 B) 380 © 300
(D) 310 ()  Question not attempted / SN T

Choose the word nearest in meaning to the underlined word.

He tried to alleviate the suffering of his neighbours.

(A) remove (B) aggravate (©) abate
(D) distribute (E)  Question not attempted

‘grorfyrer’ T -

NI Rikic] ®) fg1 ©) HHIRA
®) @8 (B) ST e
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19.  Which of the following is an opaque object ?

(A)  Kerosene (B) Wood © Glass
(D)  Water (E)  Question not attempted
1 | 9 9 O U STUREE o § 2
@A) FER (B) THS © T (Hia)
®) (E)  STaRa we
20.  Match List-I with List-II:
List-I List-II
Paris Olympics 2024 Position Country
in Medals * tally
(@ 15t @ India
(b) 62nd (i) USA
(c 3d (iii)  Pakistan
(d 718t (iv) Japan
Teil-1 01 GeRt-11 9 gafed i :
Te-1 Te-11
i stifafioes e
2024 ¥ ATl oht <ot
@@ W ()  9Ra
(b) 627t (i) AT
(© = (i)  IIfREIH
d@ 71 (iv) STaE

Choose the most appropriate answer from the options given below :

= feu T foaewedl # § waifies Suge W g :

@A) (a)- () (b)- (i), (c) - (iv), (d) - (ii) (B)  (a)- (i), (b)- (iii), (c) - (iv), (d) - (i)
©  (@)-(iii), (b)- (iv), () - (i), (d) - (i) D)  (a)-(ii), (b)- (i), (¢) - (iv), (d) - (ii)
()  Question not attempted / ST T

21. ‘Subordinate’, & fa@ EREN &t wrss B

(A) sy (B) 3T © W
(D) e () FIRa g

22, ‘FrvE’ w1 Y Eft-
@) fim ® = © fr=
D) R ()  SFIARE wed

23.  Which institution released the environmental guidelines for stone crushing units ?
(A) NGT (National Green Tribunal) (B)  CPCB (Central Pollution Control Board)
(© NAEB (D) NITTAayog

(E)  Question not attempted

Yoo T o 1l Heiell gehte = o forw srareor Geiet fder form gwen 3 fean 2

) T WA feagma (TS (B) HLHLHLER. (F=EE gy e Ae)
© TATEAEL (D) +ifa s
() SRR wed
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In a village, two contestants (A and B) are contesting in an election, 70% of the registered voters cast their votes in
the election and A wins the election by 600 votes. If A had received 12.5% less votes, A’s votes would have been
equal to B’s votes. How many registered voters are there in the village ?

Teh e | < gt (A 3R B) Ueh g9 @18 IR | 39 TG H Usiiohd Haarareii § ¥ 70% Tamaisil = ST HagH
a1 A, 600 T | AT S 721 1 A A T 12.5% FH T W 2 a7 SHb T B 3 Tall & SRIsR &1 9 ¢ | SIard
fo e & femam dsfigha =T € 2

(A) 7000 (B) 4000 (© 5000
(D) 6000 ()  Question not attempted / SN T
sFyRelt ‘o g frefafea § @ e ord § g g ?

@) T B) © ==
(D) dm () STIaRa A

Rusting of iron takes place :

(A) Inpresence of both air and water (B)  Inabsence of air and water

(©) Inpresence of air only (D)  Inpresence of water only

(E)  Question notattempted
e TS A

(A) T A1 U < ki Surefd § (B) Tl Qe I <kl SYgufeefa |

(©  heel gal i Surefd (D)  here 9T ot Saterfd §

(E) IR 9

Name the first state in India, in which the modern three tier system of Panchayat Raj Administration was adopted.
(A) Rajasthan (B)  Uttar Pradesh (© Maharashtra
(D) Kerala (E)  Question not attempted

IR o o o1 A9 g, T =t T 9EH ot STeffeh S Jomed! Seyem o T8 ?

(A)  TSEIH (B) SWU © HERE

(D) Ha () SATARa I

Which movie won the best feature film award at the 69t National Film Awards in 2023 ?

(A) RRR (B)  Sarpatta Parambarai

(©  Rocketry : The Nambi Effect (D) Gangubai Kathiawadi

(E)  Question notattempted

T 2023 T 6991 TEIE Fenfas T fhew wiftaifies fong =t fo=r =1 fien ?

(A) 3R IR, 3R. (B) UL WHINE
© TR : T A THAR (D)  TISE hifcaETSt
B)  STTaRd WA

Select the related option which would replace the question mark (?).

39 Hefyq faered o =9m S 99 fog (?) o T W A Gehdl & 2
ANIMAL : OBNJMB: : GROUND : ?
(A)  SHVPEO (B) HSPVEP (©) SHVPOP

(D) SHPMKL ()  Question not attempted / STTANT T

v23 6



30.

31.

32.

33.

34.

\

W

==

™

7

5
(

“The Amphibians of the Plant Kingdom” are :

(A) Pteridophytes (B) Gymnosperms (©  Thallophytes
(D)  Bryophytes (E)  Question notattempted

‘g S 1 TR (IWIER) §

@A) R ®) fomreTy © OirmEE
D) SR (B) aid g

Which geographical region of Rajasthan does not share their boundary with Haryana state ?

(A)  South Eastern Plateau region (B)  Semiarid region

(©)  Eastern Plain region (D) Aravaliregion

(E)  Question notattempted

frfafad § @ oA &1 S 91 drifes & gfEmon U & e 9T T | el i § 2

() <faor et gerd &t (B) 3T &

© et e & (D) SR &

() TR wed

In which state did the Supreme Court recently order to haltillegal mining in the Aravali range ?
(A) Rajasthan (B)  Gujarat (©  Punjab
(D) Haryana (E)  Question not attempted

IaH e | vt $9 a7 wed, fohd T & sRreelt Sf@et § IR S @A e i Uk ST e ?

(A) TSR (B) TSI © HoE
(D) &R (E)  STIANG ¥

How many squares are there in the following picture ?

= feg e fom F foha et €2

@A) 15 B 17 © 9

D) 14 ()  Question not attempted / ST T

Punnamada kayal lake is situated in which state of India ?

(A) Kerala (B) WestBengal (© Rajasthan
(D)  Gujarat (E)  Question not attempted

FHST I el MR o o g H e €2

(A) HA (B) Ufv=mH S ©) TSEH
D) T (E)  STIaRa g
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Read the passage and answer the Qns. 35 to 39.

When the reigning world chess champion Ding Liren and his challenger D Gukesh sit down to battle for the
coveted crown later this year, it will be like two peas in pod, in more ways than one. Even Ding said that he sees shadows
of himself in the 17-year-old Chennai boy.

During an interaction with TOI, the Chinese Grand Master (GM) said : "Sometimes I see him as a version of me.
And we do share some similarities in our playing styles and characters."

Both Ding and Gukesh's journey to the world Championship had surprised the chess world. After the Chinese
qualified for the Candidates following a ban on Russian GM Sergey Karjakin, Ding finished second in the tournament.

Later, when Magnus Carlsen chose to not defend his world title, Ding got the opportunity to fight for the crown
with Candidates champion Ian Nepomniachtchi. Ding shocked Nepo to become the new champion. Gukesh's route to
the top, too, has also been full of surprises. Despite being written off in the 2024 Candidates, Gukesh, seeded sixth among
eight players, emerging triumphant on his debut.

That apart, Ding and Gukesh are similar personalities- calm, composed and men of a few words, who let their
moves do all the talking. "He (Gukesh) is not in a hurry while playing, he calmly tries to have everything under control.
He's a very mature player ever at 17. Also, he had said my game has some inspirations for him, so maybe I have had some
influence," said Ding.

Ding, who was also astounded by Gukesh's Candidates win, feels the Indian prodigy can be a 'difficult player to
handle'. " have beaten Gukesh twice but what sets him apart is he can play many kinds of openings. And he always
wants to surprise you at the openings. So he's a difficult player to handle."

After becoming the world champion last year, Ding hit a rough patch where he didn't play for almost eight
months due to psychological and physical issues. And, when he did play, he had a series of bad results, which led the
five-time world champion Carlsen to make a remark that Ding is "permanently broken".

"Well, I'm getting repaired," he quipped.

35. When Ding Liren says that he “sees shadows of himself” in the seventeen year old Chennai boy, he means that -
(A)  They like each other (B)  They share similarities in their playing styles and characters.
(© D.Gukesh and Ding Liren are twins (D)  They resemble each other

(E)  Question not attempted

36.  According to the passage, Ding Liren journeyed to become the new World Champion:
(A)  When Ding Liren got the opportunity to fight for the Crown with Ian Nepomniachtchi and got defeated.
(B) When Ding Liren fought for the Crown with Ian Nepomniachtchi and won.
(©  When he qualified for the Candidature defeating GM Sergey Karjakin.
(D) When Magnus Carlsen chose to defend his world title.
(E)  Question not attempted

37.  The Game being discussed here is-
(A)  Chess (B)  Ski-ing (©  Cricket
(D) Polo (E)  Question not attempted

38.  Ding Liren feels the Indian prodigy D.Gukesh can be a “difficult player to handle” because -
(A)  he can play many kinds of openings and can surprise you at the openings.
(B)  heisnotina hurry while playing.
(©  heis calm and composed and a man of few words.
(D)  helets his move do all the talking.

(E)  Question notattempted

39. Complete the sentence with the most appropriate option from the ones given below :

A is a young person with exceptional qualities or abilities.
(A) Cryptic (B)  Psychologist (©)  Elegy
(D) Prodigy (E)  Question not attempted

e
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Which of the following is/are example of corrosion ?
(@ Ironrust (b)  Black coating on silver
()  Green Coating on copper (d)  Galvanisation of iron

Choose the most appropriate answer from the options given below :

(A)  (a),(b)and (c) only (B)  (d)only ©  (a)only
(D) (a)and (b) only (E)  Question notattempted

frefafed o i Hamon /% I 8/ ?

(@) @S (b) & TR HIE TR T SELT

(€ el T & Heg I & d) IS H A% H TeaHH

= T T foshedl § 9§ waifeeh Sugad S I ¢

(&) I (a), (b) 3R (o) B) o (d) © 9 (a)
(D) e (a) 3R (b) B g T

The United State of Greater Rajasthan was formally inaugurated on 30t March, 1949 by

(A) Mahatma Gandhi (B)  Hiralal Shastri

(©  Sardar Vallabhabhai Patel (D)  Khan Abdul Gaffar Khan

(E)  Questionnotattempted

30 AT 1949, 1 YK Y TSI ( United State of Greater Rajasthan ) 31 39Tk 38T fohereh gRI foart 77 2

(A) T T B) Eere
©) TER IeAINE e (D) WM 3FeA TFRR TH
(E)  STIARa wed

The sum of radius and height of a solid Cylinder is 35 cm and its total surface area is 1540 cm?. What is the volume
of Cylinder ?

(A) 4213 cm? (B) 4123 cm’ © 4100 cm3
D) 4312 cm3 E Question not attempted
1Y

T 319 foeiet & 31d -1 Td S 1 SIS 35 Ul § TR SHeA Fel Hag ahel 1540 YH ¥ | faeie &1 st
FMT?

(A) 4213 GHB (B) 4123 GHP Q 4100 TP
(D) 4312 v (B) TIaid usA

Which of the following key do you press to check spelling in MS Word ?

T T 9 B ol St & foe e frfafea § @ o 9 st S 3E B € 2

(A) F9 B) F7 © F5
O F2 ()  Question not attempted / STTANT T



44. Match List-I with List-II :

List-1 List-II
Boli/dialect Spoken mainly in Region/ Areas
Associated with
(&) Hadoti @ Jodhpur, Jaisalmer
(b)  Brij Bhasha (i)  Sikar, Jhunjunu
(0  Marwadi (iii) Bharatpur, Karauli
(d)  Shekhawati (iv) Jhalawad, Baran
-1 &1 Geit-11 9 gafad &
Telt-1 TeElt-1I
et/ SauTeT T &Y H T HSAl /&1 | Srett STt §1
(@) & () ST, SEerR
(b) SIS HH (i) R, FL
() WRHI’S% (i) WYY, ETUS]]
(d  ErEt (iv) SarS, IR

Choose the most appropriate answer from the options given below :
= few T fomedl # § waifien Suge S g
(A)  (a)- (i), (b) - (iii), (c) - (iv), (d) - (i) (B)  (a)-(iii), (b)- (ii), (c) - (iv), (d) - (i)
©  (@)-(@v), (b)-(iii), () - (), (d) - (i) D) (a)- () (b)- (i), (c) - (ii), (d) - (i)
(E)  Question notattempted / 3TIARA T

45.  Match List-I with List-II:

List-1 List-II
Country Currency
(a) Bangladesh @ Kyat
(b) Nepal (i) Ngultrum
() Bhutan (111) Taka
(d Myanmar (iv) Rupaya
-1 &1 Get-11 9§ gafad &
-1 -1l
Rl T
(a) @A ()
(b) T (i) A
© EM (i) -z
d) TR (iv) T

Choose the most appropriate answer from the options given below :
= few T fomedl # § waifie Suge S g
A) ()= (@), (b)- (i), () - (ii), (d) - (ii) (B)  (a)-(iv), (b)- (iii), (c
©  (@)- (i), (b)- (iv), () - (), (d) - (i) D) (a)- (i), (b) - (iv), () - (ii
(E)  Question not attempted / SN T

46. Who among the following is the Chairperson of the Rajasthan State Planning Board ?

(A)  Speaker of the Assembly (B)  Chief Justice of High Court
(©  Governor (D)  Chief Minister

(E)  Question notattempted
TS T ST s 1 T Frefared § 9 i 8 g ?

)- (i), (d) - ()
), (d)- ()

(A)  faum 9w steEe (B) S A % Y& =
© T O) T
B)  STTARd WA

S v23 10



47.

48.

49.

50.

51.

52.

The horizontal distance between two pillars of length 18 metres and 8 metres is ‘m” metres. If two angles of
elevation of their respective top from the bottom of the other are complimentary to each other, then the value of ‘'m’
(in metres) is :

18 TR TH 8 WX oalg & 1 Wil o 7e &fas T ‘m’ WX T 14K 37 R | 7t 7o feord 1 hior; S T T
% T &g Tfya fopy MU E @ ‘m/ (X H) AR AR T

A) 16 B) 18 © 12
O 14 ()  Question not attempted / SR T
TreAfefad § freeremes ga=m 1 3SR o-

@) T B) FH © o
®) S (E)  TFaRa g

In which games category of Paris Paralympics 2024 Mona Agarwal won bronze medal ?
(A) R8Women10m Air Rifle ProneSH1 (B) R2Women 10m Air Rifle SH1

(© R2Women 10m Air Pistol SH1 (D) R3 Women 10m Air Pistol SH1

(E)  Question notattempted

Ut queiiattae 2024 & forg W o § AT TS 5 HiE USeh Sidl € 2
(A) RS HAfE 10m TR WHA YH SH1 ~ (B)  R2 Al 10m TR THA SH1

©  R2 dfeel 10m TR faea sH1 (D) R3 Afeel 10m TR faeeat SH1

(E)  STTard WA

Carbonis:

(A) Trivalent (B) Tetravalent (©  Monovalent
(D) Divalent (E)  Question not attempted

HEA T :

INIREE:RIEC] (B) = HANH © THEHIANH
O fgHae () orFaRd ¥

Select the improved variety of maize:

(A) Kalyan Sona (B) Sonara (© Ratan

D) Jaya (E)  Question not attempted

TaRT h IeI e A i © 2

(A)  SHeO | (B) MR © T

(D) sr ()  STaRa wed

Which Article of the Indian Constitution provides for a Governor in each State ?

(A)  Article157 (B)  Article 159 (©  Article153
(D)  Article 155 (E)  Question not attempted

IR Gfae™ & fohd STI=8] o §RI Ioieh Uod § 9T shi TR o1 WTae § 2

(A) ISR 157 (B)  FI=T 159 © TR 153
(D) TI=% 155 () ATINA T

A& yo3 11 P.T.O.
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Consider the following data :

X 10 | 20 | 30 | 40 | 50
Frequency (f) | 30 50 90 - 20
frfafead g ® fa=amr =1
X 10 20 | 30 | 40 | 50
SRR (f) 30 50 | 90 - 20

The mean of the above distribution is 29.6. Then what is the missing frequency ?
I faaor 1 W1eA 29.6 T, 99 @A (THfET) IReRar w8 ?

(A) 65 B) 70 © 50

D) 60 ()  Question not attempted / ST T
‘gt H ST ST, HETeR W 31 g

(A) TR F= dre (B) HE W Hfed B ©)  3TEYE ®E HA
D) FHRE (E)  ¥aRa ged

Select the most appropriate statement for the appointment of a Chairperson of the State Human Rights Commission.
He/She has been a :

(A)  Social worker

(B)  Speaker of the Legislative Assembly

(©  DistrictJudge

(D)  Chief Justice or a Judge of High Court

(E)  Question not attempted

T YRR TR & 27ee] o T Tordl SUga e ot Ted™ i | 98 @l W& 7 ¢
(A) N HIh

(B) faum 9w % 1Ay

© e =md

(D) S <A & & =TT ST =i

(B) ST e

frfafed # = T wriert v T2 § 2

A T (B) STHRF ©  feRgE
® f= (B)  FIEE

Arrange the following chief secretary of Rajasthan in the order of their appointment old to recent.
(a)  ShriRajeev Swarup (b)  Smt. Usha Sharma

(¢)  ShriOm Prakash Meena (d)  Smt. Kushal Singh

TTE &% g Afedl bl STeh! Fgfad % S8R E 9 73 & 9 § @ |

() i TSie @WEy (b) et e e

(© 4t 3™ yehrer Hion d g e e

Choose the most appropriate answer from the options given below :

= few T foshedl # § waitues Suge At 9 |

@) (@), (d), () () B)  (b),(d) (a) (9) ©  (b)(c)(d)(a)
D) (), (d), (a), (b) ()  Question not attempted / SN T
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Choose the most appropriate option to fill in the blank :

He abdicated the throne his eldest son.
(A) bywayof (B) infavour of (© against
(D) inlieuof (E)  Question not attempted

According to Motilal Menaria the Poetic text where the description of the greatness of the king, his Conquests,
wars and valour is found is called

(A)  Vigat (B) R;:ISO (©  Rupak

(D) Veli (E)  Question not attempted

HidieTe AT & STTUR 98 %o T fT98 e T TSN i Hewd], 37 fowa, g5 iR oiXar &1 9o faeran ©
BT ®

(a)  forma ® T © F®

O) e (F)  STIR S

Which of the following organization is on the highest level in order of Panchayati Raj system in Rajasthan ?
(A) Panchayat Samiti (B)  Gram Panchayat (©  Kendriya Panchayat
(D)  Zila Parishad (E)  Question not attempted

T HSH § I W TS Toree™ T=rEd T JOert & 57 § W 3o W W © 2

(A) vEma afafa (B) U™ =R ©  HEE Y

(D) et aftog (B) ARG e

All the opposite faces of a big cube are coloured with Green, Brown and Red colours. After that it is cut into
64 small equal cubes. How many small cubes are there whose only one face is coloured ?

Th 98 o4 (FF) % it T & Fershl ol &2, R IR ara T H I7a fohan 721 8 | 59 918 34 64 BI IER o=
(et  farfor fopem 7o 1 U@ fopaml 12 5 () W& TSient Teh et & T €2

A) 26 (B) 30 © 20
D) 24 ()  Question not attempted / SN T
Choose the most appropriate word to complete the given sentence :

When are you bringing the next issue of your journal ?

A)  up (B) out ©  off
D) of (E)  Question not attempted

What is the shortcut key for the central alignment of a line or text in MS office software ?

TH TH 3R WiweeRr § fordt orgd a1 ore & o= TR & fag wdse st € 2

A)  Ctrl+X B) Ctrl+Alt+S © Cul+w
(D) Cul+E ()  Question not attempted / SN T

It was Monday on Jan. 1, 2024. What will be the day of the week on Jan. 1, 2029 ?

(A) Monday (B)  Thursday (©  Sunday
(D)  Tuesday (E)  Question not attempted

1 e, 2024 T WHAR 971 1 SFE, 2029 1 FHIE 1 hiF A1 &7 92m ?

(A)  HHAR (B) TR © feEr
(D) TIER () IaRa =
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B,P,Q,R,S, T, Vand W are sitting around a circle facing the centre, not necessarily in the same order. S is ond ¢
the left of P and Siis 4th to the right of Q. T is second to the right of R and R is 3™ to the right of P. B is 3" to the right
of Vand V is not an immediate neighbour of P. Then who is to the immediate left of B ?

B,P,Q,R,S, T,V Td W g %l @ hlch U TclE H 9IS & | 3wk Te1 361 5hH § &1 | P % 98 T g8 €IH W
S 931 T 3R Qo TiE T W 1Y TIM WSS T | R T8 F SH T W T 9421 § 3R P h 3§ T A o) |
RIS TNV E TWH AR WM W BB 3R P & A § VI 8179 B o ek o2 3 1A H hid 9131 § ?

@ T ® P © R

D) S ()  Question not attempted / ST T

Which of the following is a physical change ?

(A)  Melting of wax (B)  Photosynthesis (©  Rusting of iron
(D) Respiration (E)  Question not attempted

frafafea # & @ & sifasw qited § 2

(A)  HY = e (B) WISl HLCTOT © e WS
D) zgad (B) ARG YA

Which company got the status of Miniratna category-1 in March-2024 ?

(A) Power Finance Corporation (B)  GailIndia Limited

(©)  Grid Controller of India Limited (D) CoalIndia Limited

(E)  Question not attempted

e, 2024 H {9 o1 o1 faet’ Son-1 6t aset <t T ?

(A) TR TR hITIRIA B) T st fafree

© e Fwger s st fafaee O) Ha e fafgee

(B) TR ¥

What is the “RAM” stands for :

(A) Random Anonymous Memory (B) Read Anonymous Memory
(©  Read Access Memory (D) Random Access Memory
(E)  Question notattempted

“RAM” 1 JUIEY 371 § ?

(A) A SHIM"E TR ®) I e T

© e Ty aEd (D) v " THh

(B) ST e

The three medians PA, QB, RC of triangle PQR intersect at point G. If the area of triangle PQR is
90 sq. cm. Then the area of the quadrilateral AGCQ is :

(A) 25cm? (B) 40 cm? © 20 cm?

(D) 30 cm? (E)  Question not attempted

1S PQR % < Hifezrahtd PA, QB, RC f8ig G R it € 1 9% S99 PQR &1 &9%e 90 cm? &1 dl IS AGCQ
T ATHA © ¢

(A) 25 gHR (B) 40 THR2 © 20 T2
D) 30 TR ()  TIARa g

‘Fa-shid’ WK T I WG 7Y TEAfAEd # | gm-

(A)  ATR-TEA B) o gen-wliwr gem (©)  shar-Torshar
O FP-FH B AR

v23 14



71.  Inthe context of Indian Constitution which of the following is not a fundamental duty ?
(A)  Torespect the National Anthem
(B)  Torespect the elders
(©)  Toprotectand improve the natural environment
(D) Tosafeguard public property
(E)  Question notattempted
IR Gfaem & TaR frfafead § 9 9 a1 Hifes s 76 8 2
(A) TS T T HEAT
(B) Sl T FHM HAT
(©)  WThfaeh TATERor i T&T TR GER AT
(D) HESTeh Hafd i GL&T BTl
(B) SANRd 9
1 1
72.  In24days Acando75% ofajob.Bcando 1 of the job in 24 days. In how many days can they do 1 of the job while
working together ?
(A) 8days (B) 10 days (© 5days
(D) 6days (E)  Question not attempted
- 1 L , 1
A 24 T & 75% e S TRt €1 BT B o 24 oAl H 90 AT Feha © 1 A AR 36 HE F 9w
fora ol o g R weRdl € ol |
) 8fr ®) 10 f&Af © s5f
O) 6l (F) ARd A
73.  Who was the founder of the Chauhan dynasty of Ranthambhor ?
(A)  Durlabh Raj (B)  Vijay Raj (©  Govind Raj
(D) Vigrah Raj (E)  Question notattempted
TOHR % BIeM oY 1 HeATTe i o1 ?
(A) TANIS ® fosaTs ©) Tfa= T
(D) T T (B) TIaid 9sA
74. Ifa=b™, b=c"and c =aKthen the value of m, n, k is equal to:
FfE a=bm, b=cn 3R c=ak &, T m, n, k FH = M|
@ 2 ® 3 © 0
O 1 ()  Question not attempted / ST T
75.  Which is the main organization for the Development of Infrastructure in Industrial Areas in Rajasthan ?
(A) RAJSICO (B)  District Industries Centre
(©  Rajasthan Finance Corporation (D) RICO
(E)  Question notattempted
THIF 1 TS o # ST &t # SuRyd @i= & fowm & fau w@ 82
(A)  TSTEERT (RAJSICO) ®) e Tenfes =
© T faw fm (D) Tl (RICO)
(B) TIaRd uA
2 va3 15 P.T.O.
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Which of the following is an esterification reaction ?
frfafea § & w1 = T Teds Fa e ?
(A)  CH,COOH +NaOH — CH;COONa + H,0

CH,COOH + CH,CH,O0H HY CH.COOC,H, + H,O
3 3 2 —— 3 2075 2

NaOH
©  CHCOOC,Hz——=> C,H;0H+ CH;COONa
(D) CH;COOH +NaHCO; — CH;COONa + H,O +CO,
(E)  Question not attempted / SN T

Which of the following is the electronic brain of the Computer ?
(A) CPU (Central Processing Unit) (B)  Control Unit
(©  ALU (Arithmetic Logic Unit) (D) Memory

(E)  Question notattempted

frefafed # @ w1 O FPe F1 eiaie afash § ?

(A) 3 (S et ) ®) F A

© wEA (el wif 7fe) (D)

(B) IR A

Where is the natural gas based Ramgarh Power Plant located ?

(A)  Udaipur (B)  Bhilwara (©)  Jaisalmer
(D) Bikaner (E)  Question not attempted

(e 79 e e T Hof el T feerd 2

(&) IR B) e © SEER
) SR (F) ST oe

Who propounded the theory of the origin of Rajputs from the Nagara Brahmanas ?

(A)  Vincent Smith (B)  Gauri Shankar (©)  JamesTod
(D)  Dr.D.R. Bhandarkar (E)  Question not attempted

TR STRTO | STl bt Sedta o1 fagia forem gfaurfea fohan 2

a) fodefmy (B) T TR © e
(D) < SR, HeRL (B)  TIaRd 9sd

Identify the most appropriate sentence from the following options :
(A) Hehad been living in London for two years when I visited him.
(B) Hehad lived in London for two years when I visited him.

(© Helived in London for two years when I visited him.

(D) Hewas living in London for two years when I visited him.

(E)  Question notattempted

Choose the most appropriate English translation of the given sentence.

3T IR g T e
(A)  Youhave notbeen deceived. (B)  Youare being deceived by him.
(© Hedidnotdeceive you. (D) Hehasnot deceive you.

(E)  Question notattempted

v23 16



82.

83.

84.

85.

86.

87.

88.

y

J

A

LR

When was the ‘Objective Resolution” presented by Pt. Jawahar Lal Nehru accepted by the Constituent
Assembly ?

(A) 26 January, 1947 (B) 22 January, 1947 (©  29November, 1949
(D)  9December, 1946 (E)  Question not attempted

Tfed TaRdre 1e& gR1 UK ' 3e¥d TEE ' sl WU T R el TR o 1 ?

(A) 26 SHERI, 1947 (B) 22 SHa{l, 1947 ©) 29 TR, 1949

D) 9 feEmr, 1946 (B) SAIORAd I

Choose the most appropriate Hindi word for the given word :

DEFERRED

INBREREETE! (B) SAAAHA © R T

(D) Ui T (B)  Question notattempted

The total number of 3 different colored pens in a box is 102. If the ratio between red colored and black colored pen
is 5 : 3 and the number of black pens is 33% % of green pens, then find the difference between the red colored and

black colored pens ?

T afed § i fafi i 3 sherl i ol H1 102 © 1 A 71 T 7R hiet T it Swerd! o 3T 5: 3 B 3R &

1 35 T T & 1 ol A e A B % A 9 o 41 Fl oA A €1 e F e ok

AT Y 2

A 14 (B) 20 © 10

D) 12 ()  Question not attempted / ST T

Y F Ik TAETET o SHA ST T =TT h |

() T - = (B) TG - T © TR -
(D) O — HIEET E) FIARa T

How many slide layouts of office theme are available in new slide dialog box ?

T TAEE WA (dialog) S H ST o & foha wilEe TI3TIRe U™ § ?

@A) 9 ®B) 17 © 7
O 14 ()  Question not attempted / SN T
Select the incorrectly matched pair of plant and its economically important part:

(A)  Rauwolfia serpentina - Root (B)  Terminalia arjuna - Flower

(©  Curcumalonga - Stem (D)  Allium sativum - Stem

(E)  Question not attempted

Frefafed # 9 Terd faem ford diell aon So9 wwifiq snfdfe €9 § Hewyul g 9m & 91

(A)  FEIEE G2 - S (B) AT ST - T

©  FIFA @l - T (D)  TerTH Gergad -

(B)  oTFaRa wed

‘Taepiol’ = el vres &

&) dr= B) < © o
D) T B) TR o

% V23 17 P.T.O.
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The sunlight passes through spherical water droplets of rain. An observer with his back to the sun, seen a

rainbow in front of him.

This Sun phenomenon is due to the::

GV
(B)
©
)
(E)

T 1 YR 1 T AR T 1 &1 H F T ToRdl © | Teh J&7eh 3 1 3R 11 i @l ¢ | 98 70 drA

effect of reflection of light only

combined effect of dispersion, refraction and reflection of light
effect of dispersion of light only

effect of refraction of light only

Question not attempted

TEUTY I WA § | 3H TS H HRUT S

(A) eI < T ol GHE

(B)  WehIRI % &9V, T qel Tl Wt <Al et gume

(© TR % GRET 1 YA

(D)  WehI¥ o ST hl TS

(B) TR we

Choose the word opposite in meaning to -

CONTRITE

(A) concise (B)  polite

(D)  hurtful (E)  Question not attempted

‘iR’ sk | e G- 98 1 TE fashed §-

)
©)

)
()

)

U] TR WY (B) 3w WX HiY

T[0T TR Y (B)  TIaid usA
‘Pichhvai Painting’ is associated with which school of Art ?

Kishangarh (B) Nathdwara

Kota (E)  Question not attempted
* firens Ufén’ ferm wen foremer § weiftm 22

[ERIERICS (B) T¥UgN

Ea| (B) 3Tidysd

©)

Which of the following is correct ?

)

All the colours in VIBGYOR travel with the same speed in vacuum.

(B) Nonein VIBGYOR travels in vacuum.

(©  Redlight travels fastest (among VIBGYOR) in vacuum.

(D) Violetlight travels fastest (among VIBGYOR) in vacuum.

(E)  Question notattempted

frfafed # & @ @@ 82

(a) f7afa § VIBGYOR ® & Teft T & Yehrel THM =Tet 9 Tfd Fid € |
(B) T7afd & VIBGYOR ® & &I ot T 1 YohT¥T TIfd & il T |

(©) frafa § VIBGYOR ¥ ¥ et 377 o1 WehrT Teld st TIfd il 2|
() T7afa & VIBGYOR ® & ST T 1 YehT9 Ted 1 T el 21
)  STIRRE we

18

©

©

unapologetic

gfg T iy

Bundi
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Aman walks 3 km to East, then turns North-West and walks 4 km. Then he turns South and walks
6 km. Then again he turns West and walks 3 km. Finally he turns North and walks 7 km. In which direction, is he
from the starting point ?

(A)  South (B) West (©)  North-West

(D)  North (E)  Question not attempted

3T 9 i SR 3 T weran ¥ o o8 SR-ufvem @i iR gt 4 Tt =erar 81 fR o 3ferm &6t iR gea
6 fodt wear 21 fT o ga: wfvem feem 1 o 3 fodt =9aar €1 &7 ¥ 9% ST #1 AN A
7 Teret <t € | ST fo g 31 Ry foig @ o form faen 5 %2

(A)  <fago (B) uf=m © TW-ufvem

(D) W (B) 3TRdysd

The simple interest on a certain sum of money for 2 years is Rs. 300 and the compound interest on the same sum
at same rate for 2 years is Rs. 315. The rate of interest per annum is:

fordt T Tfer &1 2 96l & faw WaRY &A= . 300 © IR I U *1 3 srafy & faw wwafs =
T35 EMEI AT T TR E

A 20% B) 25% © 10%

D) 15% ()  Question not attempted / ST T

Which of the following is an optical storage device ?

(A) PunchCard (B)  Blu-ray- Disk (© Hard disk
(D) Tape (E)  Question not attempted

Frfafed § 9 & & si<eha @R feamsd 2

A) TEEHE ® =-fe= © e femn
© = (F)  STIHE oo

In AIDS is primarily affected.

(A) NervousSystem (B)  Digestive System (©  Circulatory System
(D) Immune System (E)  Question not attempted

AIDS ¥, T ®9 ¥ gufad 2t €1

INEEIEEIKE (B) UEATH © URE=Ru A
(D) wfaRan s (B) TIaid 9sA

Which of the following is not a function of the control unit ?
(A)  Direct Operation

(B)  Guides data flow through the computer memory

(©)  Controls Sequential Instruction Execution

(D) Interprets Instruction

(E)  Question notattempted

frfafea § @ = a1 e saE o1 & 76 § 2
(A) SRR ATRIH

(B) TEEH ST Hl Y T HFIR HARY

©  FA HiFfiTe T TRl

(D) ST TERM

B)  ITIRATH

% V23 19 P.T.O.



99.  Who has been appointed as the 26th Chief of the Indian Navy in April-2024 ?

(A)  Dinesh Kumar Tripathi (B) V.R.Chaudhari (© R.HariKumar
(D) ManojPandey (E)  Question not attempted

3T, 2024 H YR < T BT 2697 = (AeART) TR g TN 2

() T pER Be (B) M. = © ¥R R FAR
(D) TS WU ()  STITRa T

100. Choose the most appropriate word to complete the given sentence :
The compilation of titles of books or articles that have been used by a person for writing an article is termed

as .
(A) Bibliography (B)  Biblical (©) Biography
(D) Blasphemy (E)  Question not attempted
101. Which of the following groups consist of only Input devices ?
(A)  Mouse, Keyboard, Plotter (B) Mouse, Keyboard, Scanner
(©  Mouse, Keyboard, Monitor (D) Mouse, Keyboard, Printer

(E)  Question notattempted
mefefad | 9 -9 998 %ad $7Ye feamy & oy W g ?

(A) HRH, FEE, T (B) TISH, HIES, ThHR
© TRE, HErE, AR (D) ¥=E, wErE,
(B) SR A
102. Ina typical nucleus some regions of chromatin are loosely packed and stain light, this region is known as:
(A)  Nucleosome (B)  Histone octamer (©  Heterochromatin
(D)  Euchromatin (E)  Question not attempted
T W& Fsh B shiafed & F2 & (faer) w9 § dgpferd € iR gos sfiRfSa g €1 Jg e TH Y
S ST © |
(A)  HAferEEH ®) fewi sl © whAfeA
(D)  FpHA (F)  STIRE A

103. Which of the following fundamental duty is added by the 86t Constitution Amendment Actin Article 51A of the
Indian Constitution for a parent or a guardian ?

(A)  To provide opportunities for education to his ward or child between the age of six and fourteen years.
(B)  Safeguard public property and to abjure violence.

(©)  Todefend the country and render national service when called upon to do so.

(D) Touphold and protect the sovereignty, unity and integrity of India.

(E)  Question notattempted

863 TR TEieA ATUfa9 §RI YR Wfau™ & =% 51T H f=fafed § & &= a1 wifeis e Jrr fad
arera SAfTee % ey sirer T € 2

(A) 3T TIRT A1 3794 B8 W HiGe 9° i 3T % o= I T F STIER S HIAT |

(B) WSSk THf i Y& HIA SR & | T @

(©) T &N HIAI, SMEATIRAT US4 T TR HAl Y&H HIAT |

(D) RA ! WYY, Tehdl 3R STESAT S FTT TEAT R IHehT T&T HEAT |

(E) STIARa ¥

B
N
<
N
(X3

20



104.

105.

106.

107.

108.

Who among the following has written the book “Cricket My Style” ?
(A) Kapil Dev (B)  Saurabh Ganguly (©  RaviShastri
(D)  Sachin Tendulkar (E)  Question not attempted
e o @ forem ‘ fonche A WA’ e q&ae Tl €2
(A) HUAIF (B) URY TMREA © I wmst
(D) e g E) STTARd T
frafafaa § sws fafed aw &
(A) TR v At off | (B) HHE HE fd 1 fed Hifew
©) el Jed-der 3T T (D) 219 98 999 Tre g1 BT |
(B) AR
Match List-I with List-II :
List-I List-II
Lake Located /Close to
(@) Jaisamand lake (i) Nagaur
(b)  Sambhar lake (i) Barmer
() Didwana lake (iif) Udaipur
(d) Pachpadralake (iv) Jaipur
FEl-1 &1 Geit-11 9 gafed i :
geit-1 -1
El) feora /o e
(@) SEEE @ TR
(b) HW A (i) TR
© fegam g (i) STAR
(d) o= S (v) SR
Choose the most appropriate answer from the options given below :
= few T foeedl # § waifies Suge W™ g :
@) (a)-(iii), (b)- (iv), () - (i), (d) - (i) ®)  (@)- (), (b)-(iv), (o) - (i), (d) - (i)
©  (@)-@v), (b)- (i), (o) - (), (d) - (ii) D) (@)~ (i), (b)- (iv), () - (iii), (d) - (i)
()  Question not attempted / ST T
frefafed o e T 3-
@) = ®) Ha © =&
(D) & () FRa g
If 2c0s20 + 3sinf =3, where 0° < 6 < 90°, then what is the value of 5sin?20 + cos20 + cosec?26 ?

IfE 200520 +3sin® =3 ST&I 0° < § < 90° BT q&l 55in220 + cos20 + cosec220 T AT T B 2

2 » 4
@ 5 ® O 12
35 )
(D) a ()  Question not attempted / ST T
e va3 21

P.T.O.



109.

110.

111.

112.

113.

114.

e
L

foreferfiaa # vg foifad s &

() s (B) ST © e
(D) AFaTh (B) SAIIRA

Which disease is caused due to trisomy of 215t chromosome in humans ?

(A) DownSyndrome (B) PatauSyndrome

(© Klinefelter's Syndrome (D)  Phenylketonuria

(E)  Question notattempted

1A A1 I 219 IO i ORI % R0 S § 2

(A) =EA faegm (B) R faegm

) FETheR o (D) hIABARIHRA

(B) 3Tafaysd

Choose the word most similar in meaning to -

ZEAL

(A)  reluctant (B) liberal (© apathy
(D) fervour (E)  Question not attempted

The area of a square is 9x2 + 24x + 16. Find the measure of the side of the square.

Tk T T &THA 932 +24x +16 € | I & Heleh T HTY <arsy |

A 3x+4 (B) 3x+5 © 3x+1
D) 3x+2 ()  Question not attempted / ST T
Match List-I with List-II.
List-I (Fair) List-II (Place)
() Karni Mata (@ Kolayat
(b)  ShriMahavir]i  (ii) Diggi
(0  Kapil Muni (iii) Deshnok
(d) Kalyanji (iv) Karauli
Geit-1 1 geit-11 § gafad s
Teit-1 (¥ ) G- 11 (T )
(@) O AT ()  wiemEd
(b) &t weER S @) et
( e (iii) T
(d) e S (iv) I

Choose the most appropriate answer from the options given below :

=1 i T foshedl § § waifie Sugad ST T :

(&) (a)-(iii), (b)- (iv), (c) - (i), (d) - (i) B)  (a)- (), (b)-(iii), (c) - (iv), (d) - (i)
©  (@- (i), 0)-() (©)- (i), (d)-Gv) O  @-(v), b)- (i) (©)- (), (d)- (iii)
(E)  Question not attempted / SN T

Which of the following is an example of an impact printer ?

(A)  Laser printer (B)  Plotters

(© Dot matrix printer (D)  Inkjet printer
(E)  Question notattempted

Trefafed § @ =9 s e % Sgem R ?

(A) T iR (B) TRY
© ez i D) IS
®  FgaRa T

v23 22



115. A shopkeeper marked a product, 60% above the cost price and sold the product for Rs. 32,400 after giving two
successive discounts of 10% each. Find the cost price of the product.

(A)  Rs. 25,000 (B)  Rs. 30,000 ©  Rs. 20,000

(D) Rs. 23,000 (E)  Question not attempted

Teh HMIR A Teh IR T AN T § 60% A oo iferd foran 7 3R 3cig @ 10% It b 52 I 39 3R
% %. 32,400 H fosRa fRa | 3IE o1 T Ho T Il |

(A) ®. 25,000 (B) ®. 30,000 © ® 20,000
(D) % 23,000 (B) SAORA 9eA
116. Match List-I with List-II:
List-I List-II
(Type of Coal) (Carbon %)
(@) Peat @ 94 -98
(b)  Lignite (i) 27
(©0  Anthracite (ii) 78-86
(d) Bituminous (iv) 28-30

Fell-1 &1 Gelt-11 9 gafad St :

-1 GR-11
(=TI T feram ) (‘hTeIA ohT Wfa9Td )
@@ de () 94-98
o) fommse (i) 27
©  STeERe (iii) 78 -86
(d foefrg (iv) 28-30

Choose the most appropriate answer from the options given below :
= feu T faeedl # § waifies Suge W g :
@) (a)- (i), (b)- (i), (c)- (), (d) - (ii) ®
©  (@)- (@) (b)- (i), (c) - (iii), (d) - (iv) @) (
()  Question not attempted / SN T

a) - (iv), (b) - (iii), (c) - (ii), (d) - (1)
a) - (iii)

(
) - (iii), (b) - (), () - (i), (d) - (iv)

117. Nanda Devi Biosphere reserve is situated in which state ?

(A)  Sikkim (B) Assam (©  WestBengal
(D)  Uttarakhand (E)  Question not attempted

27 2t SRR R fore oo | Re@ § 2

NI IEET (B) A €  Uf¥=H s
(D) ISHEE (B) AR 9

118. Which fundamental right cannot be suspended even during an emergency ?
(A) Rightto freedom to reside anywhere (B)  Right to freedom of Religion
(© Rightto Life and Personal Liberty (D)  Right to assembling peacefully
(E)  Question notattempted

FATIIGRT o S Y ShiF 1 Aifeleh SifuehR Teiferd =2 feran S Hehar & 2

(A) e o @A A AfER (B) I I T I ATRR
©)  Siad IR SAfKATT Ta=Idl & STHHR (D) Wfqgul T B 1 AHR
(E)  STgard WA

==

™
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119.

120.

121.

122.

123.

124.

5
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Choose the most appropriate option to fill in the blank :

Would you like to hear story about Englishman,
Scotsman?

(A)  x, an, the, the (B) a, the, the, the ©
D) a,an, an, a (E)  Question not attempted

Which of the following is India’s first interplanetary mission ?

(A)  Astrosat (B) RISAT-1 ©
(D) Mangalyaan (E)  Question not attempted
frefefad § & 9Rd 1 17 o Tee SFRwE (Fwed) fawm €2

(A) TEE (Astrosat) (B) RISAT-1 ©
(D) FeEH (F) AR o

The catalyst and promoter used in the Haber process, respectively, are :

(A)  MnO,andFe (B) NOandMo ©
(D) Feand Mo (E)  Question not attempted

T AT Tora | ST SR i e e €

(A)  MnO, 3R Fe (B) NO 3R Mo ©
(D) Fe 3R Mo (B) ARG TH

“The Valley of Flowers’ is situated in which region of India ?
(A)  The Arunachal Himalayas

(B)  The Eastern Hills and Mountains of Himalayas

(©  The Darjiling and Sikkim Himalayas

(D) Uttarakhand Himalayas

(E)  Question notattempted

‘el ot T IR o foRe & o fred 72

(A)  ereuE fedme™

®) femrer %t ot weifeat o wedq

© wifsife AR fafern fedmer

(D) SWEs ferr™

() SARd usA

Choose the most appropriate option to fill in the blank :

I've got friends so I'm not lonely, but of them never visit me.
(A) some, fewer (B) none,some ©
(D) many,afew (E)  Question not attempted

The metal which is not found in the free stateis :

(A) Platinum (B) Iron ©
(D) Silver (E)  Question not attempted

T qe Srere | 1 fer aren o

(A) ™ (B) e ©
(O) = () S

v23 24
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none, many
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125. Denatured alcohol is:
(A) formed by addition of conc. sulphuric acid to alcohol.
(B)  used for the drinking purpose.

(©  themixing of a dye and methanol to ethanol for the purpose of industrial use.

(D)  formed when alcohol reacts with oxygen.

(E)  Questionnotattempted

fod Tehiea 1 § 2

(A) I T TN & 59 T HEWIh T hl Ueshlelel § STell STl § |

(B)  THH IYANT UM & e feman mar €1

© SN S & Sewa ¥ 3T | 41 (S) IR Herie foarmn s 2|
(D) I T ST & ST Ueehlarel e o ey stfufshan shar €1

B)  TTaRa T

126. Choose the most appropriate option to fill in the blank :
The salutation in an official letter should be

(A) Before the date (B)  Before the subscription (©  After thesignature
(D)  After the subject (E)  Question not attempted

127. Match List-I with List-II:

List-I List-II

Name of Element Major Function in human body
(@) Sodium (@) Component of Hemoglobin
(b) Calcium (i) Maintaining Balance
(¢ Iron (iii) Makes bones and teeth strong
(d) Iodine (iv)  Formation of thyroxine
gell-1 &1 Gelt-11 9 gAfed S

-1 11

el ShT S| A IR | e whrd
@) wrfead ()  THEECIEE H Heh
®) FferEm (i) e S @A & T
() e (3TRA) (i) B! T I BT ASEA I T
d SN (iv) TR a9 & fag

Choose the most appropriate answer from the options given below:

= fu e fohedl # § waifuen Suged W 9T

@A) (a)- (i), (b)- (i), () - (iv), (d) - (i) B)  (@)- () (b)- (i), (c) - (iii), (d) - (iv)
©  (@)- (i), (b)- (iv), () - (), (d) - (i) D) (a)- (i), (b) - (iii), (c) - (i), (d) - (iv)
()  Question not attempted / SN T

A& yo3 25 P.T.O.



128. Select the most appropriate statement about blood platelets (Thrombocytes) :
(a) They have no nuclei.
(b)  They are very small fragments of cells.
() They contain red coloured pigment called hemoglobin.
(d)  They participate in clotting of blood.
()  They produce antibodies to fight antigens.
Choose the most appropriate answer from the options given below :
(A)  (b),(c)and (d) only (B)  (b),(c),(d)and (e) only
© (a),(b)and (c) only (D) (a), (b)and (d) only
(E)  Question notattempted
T fofam] (YTirEmEey) & aR H aifieh Sugad HUd P =991 &Y
@@ T HIE Hsh T SR
(b) o HIRRT F 95 Bl THS T |
© T o 31 1 o B |, 99 EErared wed 7
(d) FIH F IFH IH H 9T O T
© A ufas (TEeM) & T & fag wfawef a1 e €|
=1 5w T foshedl # § Aaiteeh Sude ST I ¢

(&) (b), (o) R (d) B) I (b), (c), (d) R (e)
© I (a), (b) 3 () (D) e (a), (b) 3R (d)
(E)  TTARA T
129. ‘STOeiet’ H Y TE -
(A) FHERA B 8 © T
(D) AEfvE (B) ARG I
130. -1 1 FeR-11 9 e i
-1 TR-11
HTeRIIIT el 91
(a) ST T ST () R
(b) YT H AW (i) SEEA
(€ @M &l g3 (i)  STSAA
(d)  ferE W e (iv) TYalm
=1 w7 foshedl § § Atk SUe ST 1 997 R |
A (@)-(), (b)(ii), (c)-(ii), (d)-(iv) B  (@)-(), (b)-(ii), (c)-(iv), (d)-(ii)
©  (a)(i), (b)-(iii), (c)-(iv), (d)-() D) (a)-(iii), (b)-(ii), (c)-(i), (d)-(iv)
(E) TR T

131. Qand R aresiblings. P has two children and he is son of E and E is father-in-law of H. H has only one son. R is not
granddaughter of E. Then how is Qrelated to E ?
(A)  Son (B)  Niece (©  Daughter
(D)  Grand Daughter (E)  Questionnotattempted
QN RUFR ME A AGA T I PH I o4 € IR I8 E 1 A T, E, H T IR &, H T Hhadl Th TA ¢, E &l 4l R
T EIdQ HIE W FH Tele & 2
@ W (B) sl ©
(D) it () STIaRd W

= V23 26
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134.
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136.
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Shimla is cooler than only Manali. Nainital is colder than Ooty but not as cold as Mussoorie. Mount Abu is colder
than Shimla but not the coldest. Which among the following is the most coldest ?

(A) Mount Abu (B) Shimla (©  Nainital
(D) Mussoorie (E)  Question not attempted

foren hee ATl 9 a1 ¥ | AT, 3 @ 31 § AR aed fora 3 6 € | mee o, e @ 99 § R we
arferer de1 T ® | sIat fr=afafed § 9 9ad e1fis Se1 A T eH § 2

(8) TR ®)  feren ©
®) (E)  STaRa wed

In which month is the festival of Kajali Teej celebrated in Bundi ?

(A) Bhadrapad (B) Phalgun (©  Chaitra
(D) Shravana (E)  Question not attempted

&t H FHetelt A1 Rl RN fohH 18 W A S © 2

(&) B) © A
D) & (B)  STeee o

‘aRdE’ A e T §-

@ = ® = © =

O (F)  STIE oo

Himalayan Yew tree (Taxus wallichiana) is found in which States of India ?
(A)  Sikkim and Uttarakhand

(B) Himachal Pradesh and Arunachal Pradesh

(©  Sikkim and Himachal Pradesh

(D) Himachal Pradesh and Kashmir

(E)  Question not attempted

TeaTert g g8t (2oRgT FiferfarT) ARA o fohd Tl § A I © 2
() fafer IR swEe

(B) Tea=e TRw AR SR YT

© fafsra oir feamea

(D) fea=e w_w iR e

(F) ST e

Which salt does not contain water of crystallisation ?

(A) Washing Soda B) Gypsum (©)  Blue Vitriol
(D) Baking Soda (E)  Question not attempted

frfafed # & forg woo # freeieo &1 Sia Tai 2§ ?

(A) =T T e ® fowm © e fafeore
(D) @M & 9rel (B) 3Tidusd

% V23 27 P.T.O.



137. Which of the following area of Rajasthan is/are benefited with water from Indira Gandhi Canal ?

(@  Churu (b)  Jaisalmer (©0  Jodhpur (d)  Ajmer
Choose the most appropriate answer from the options given below :

(A) (a)and (c)only (B) (a),(b)and (c) only

© (a),(c)and (d) only (D)  (b)and (c) only

(E)  Question notattempted
Toree % T o @ o & Rt sfega Tl TeX | e b1 ey fetan © 2

@ T (b) SRR (9 SR (d) STER
=1 S T foshedl # § Aaitieh Sude ST T4 ¢
(&) FA (a) A (c) (B)  F (), (b) ¥ ()
© F (a),(0) T (d) (D) A (b) R (c)
B)  STIRRE we
138. The name of the present (August, 2024) chairman of ISRO (Indian Space Research Organisation) is :
(A) Dr.K Kasturirangan (B) Dr.S.Somnath (© Dr.K Sivan
(D)  Dr. K. Radhakrishnan (E)  Question not attempted
TH (YR SFafel STIEM W) & aauM (ST, 2024) 31981 g
(A) =L . FERLEEH (B) I TH. |y © = . faed
(D) S % qUHRIH (B) ARG I
139. Choose the most appropriate option to fill in the blank.
After months of recessiontheeconomy _ picking up.
A s (B) are © was
D) were (E)  Question not attempted

140. Choose the most appropriate reported form of the sentence given :
“Where will you be tomorrow”, I said “in case I have to meet you?”
(A) Isaid to him where he will be next day in case I have to meet him.
(B) Ienquired about his whereabouts the next day in case I would have to meet up.
(©) Iasked where you will be next day in case I will meet him.
(D) Iasked where he would be the next day in case I had to meet him.
(E)  Question notattempted

141. Given below are two statements :

Statement (I) : Balathal is an important archaeological chalcolithic site in Rajasthan.
Statement (II):  Itwas excavated by V.N. Misra. Its contact with the Harappan Civilization is attested from the
house construction.

In the light of the above statements, choose the most appropriate answer from the options given below.
(A)  Statement (I) is true but Statement (II) is false.

(B)  Statement (I) is false but Statement (II) is true.

(©) BothStatement (I) and Statement (II) are true.

(D)  Both Statement (I) and Statement (II) are false.

(E)  Question notattempted

Fr < wem fm e €

HYA() : ST TSI I Teh FEwYUl GRS AHHTHI T € |

HIUT () :  THH! QIS AT T 7 Y o | TR TS WAl § Tk 3 T o & ymiford ran 7
39 el % 3T H ffafad fawedl § § watfuen Sued S g1 ¢

(A)  FEE (1) TA T, TR A (1) S R

(B) FUA (I) 3A T, fheg T (1) TA T

©  F (1) 3R (1) < T

(D)  HH (I) 3R (1) I e/

() TR oA
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Which State is NOT a part of the “Delhi-Mumbai Industrial Corridor Project’ ?

(A) Punjab (B)  Rajasthan ©  Gujarat
(D) Maharashtra (E)  Question not attempted

e @ v w oo feeeft-grerd sfeifies e uftEsm s oam @ 7 2

(@) T ®) T © T

(D) WeRTE ()  STIaa yed

Dhol dance is associated with which area of Rajasthan ?

(A) Jalore (B) Pratapgarh (©)  Sikar
(D) Jaipur (E)  Question not attempted

I T I Helel TR & fhe A A T2

(D) AR ()  STIaa 9

Where is the ‘Institute of Leadership Development’ located in the state of Rajasthan ?

(A)  Jaipur (B)  Jodhpur (© Udaipur
(D)  Mount Abu (E)  Question not attempted

ToTe T § * SRae oift witetiig Saeraiie’ el W feea €2

(4)  SER (B) SR © SR
(D) HS= g (E)  3TTa ¥

In a certain language ‘SNIP’ is coded as ‘@59#” and ‘KITE’ is coded as ‘$9%!". How will ‘PINK’ be coded in the
same code ?

fordt 91 H ‘SNIP’ 1 ‘@594 H 3R ‘KITE’ 1 ‘$9% ! H i fohan <1 €139 &I | ‘PINK’ &l 9 &is foman
ST ?

(A)  92#% (B) $19# ©  $85!

(D) #95% (E)  Question not attempted / SN T
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Given two statements to be true, even if they seem to be at variance from commonly known facts. Read the
conclusions and decide which of the given conclusions logically true from the given statements.

Statement :Some hands are eyes. No eye is leg. All legs are hairs.

Conclusions:

O No hand is a hair.

() Some eyes are hairs.

In the light of the above statements, choose the most appropriate answer from the options given below.

(A)  Ifboth (I) and (II) conclusion follow  (B)  If neither (I) nor (II) conclusion follows

(©) Ifonly (I) conclusion follows (D)  If only (II) conclusion follows

(E)  Question notattempted

T e T S e ] e T T R, et S a9 aet | fisrarg fewd § | frensf i stemm il oik
fotar < o few 7T et H i A1 frshd qeagl T
HY : FO T G § | A oA R T 19t W 90 2a ¥

foreendt
O  HE Y, A TS
M FS A T g

ST HEl % T § Frefafad faewedl § 9 daifues Suge W 94

() AR A (1) & (1) Frewd w@ @ @) AR (1) 3R T (1) Frepd wEd &
© 3 FHaa (1) frwd wd & (O) 3 Fwaa (1) Frepd et &

B) ST WA

In which year was Rajasthan Atomic Power Station commissioned ?

TSTET qCHTY] SsTi ©35 ol ol o ¥ =e] (ShHier ) foham wr o ?

A) 1978 (B) 1980 © 1963

(D) 1973 ()  Question not attempted / ST T

‘o e wfy-fasss gm-

A)  THEAS (B) TRE+3MS © TWHHS
(D) W+HS (E)  STIia 9o

National Remote Sensing Centre (NRSC) is located at ?

(A) Hyderabad (B)  Sriharikota (©  Ahmedabad
(D) Bengaluru (E)  Question not attempted

T G HoRd g (TF 1R T Hf) el feerd 72

(A) TIER (B) R © STRHRER
(D) SR (F) TR g

Which of the following is not a type of spreadsheet program ?

(A)  Google sheets (B) Rosesymphony

(©)  Zoho Sheet (D)  Microsoft Excel

(E)  Question notattempted

fr=fafaa § @ %9 91 Sresiie WM &1 YR T8 § 2

(A) T it B) st Faewt
© e (D) TG TR
(B)  TIaRd ge

-00o0-

v23 30



A& yo3 31 P.T.O.



- T
FE Ui A & uladi & - et ufa 3712 fgdier ufa, adlen @emfta oz adien wer visa & qd gRienelf 3o g @ @la) o dizie

@) A9, gemeff zer fgelier ufd 1 sicior 78l B2 | e gTRT 3T UEIE B FHeT Tl B 3ra= URT GTAT B2, fEeier ufdy Bt Hqer gl
& Be s A A BT ATENAGAD 37191 BT geieff ) 1ot | gAemelf fadter ufea @t sraer Fmer & wor



